TH2EEZRERRERMOEFLTVES,
ABEH( )RIFHTA L

2 YN= 107,796] -36

ELES 52,360 -17

4 55436] -19

HEH 47,149 9

SH6EIR1H RHE

BTRIA O SH6EIA1R [_E

THREEZRERRICERERSROIERERRSE TREFAZLTLEY,
FERENMNEMICHOTEH, RRICEATHEWGE(E, BRZAETIAQKICEAYVEER A,
Z0=6 BROFER. AQ-HFEBATAFTRIZGDBENHYFT A REIFT X JELTEYFET,

BT £ A0 1R B 18R =i TR | HEH | EE
e 356 -2 165 -1 191 -1 163 -1
FLHT 192 -1 92 0 100 —1 87 —1
ESHT 109 0 41 0 68 0 50 0
KEH 28 0 13 0 15 0 10 0
NER) 22 -2 7 -1 15 -1 6 -1
AR 156 1 68 0 88 1 61 0
=1 39 0 8 0 31 0 1 0
78 L ET 381 0 214 0 167 0 241 0
EHT 7 2 6 2 1 0 8 2
& HT 190 2 75 1 115 1 63 2
EEHT 162 1 74 2 88 —1 84 2
AT 191 —4 101 -2 90 -2 114 -2
AHT 203 0 96 0 107 0 96 0
2 EHT 363 —4 206 -1 157 -3 211 0
FHT 57 -1 24 -1 33 0 37 -1
18 faET 87 0 35 0 52 0 42 0
FSHT 109 -1 55 1 54 -2 59 -1
—&T 0 0 0 0 0 0 0 0
NET 118 —1 57 -1 61 0 52 -1
t&ET 143 0 67 0 76 0 59 0
INET 74 0 37 0 37 0 31 0
NET 180 1 76 0 104 1 85 1
+&T 218 —1 90 0 128 -1 109 -1
35k Fe T 352 0 159 0 193 0 164 1
5iEET 3,057 3 1,472 4 1,585 -1 1,338 0
EFAET 3,912 18 1,914 13 1,998 5 1,695 10
Ed=1:] 1,685 —11 821 -7 864 —4 672 -5
ohEHT 1,635 -8 878 -4 757 —4 898 —6
FTHEET 647 0 295 -1 352 1 245 1
H #THT 3,596 -8 1,754 -7 1,842 —1 1,673 -8
Lid6 BT 2,968 5 1,441 1 1527 4 1,258 0
¥R BT 2,812 11 1,372 -1 1,440 12 1,052 2
JIIFEET AL 4560 5 2,233 8 2,327 -3 2,002 7
JIIFE BT F 2,160 3 1,044 -2 1,116 5 852 2
ARKHET 8,985 -9 4364 -7 4,621 -2 3,824 -3
=&HT 3,885 -3 1,867 -2 2,018 —1 1,676 3
[ FH AT 1,427 -14 734 -6 693 -8 626 -7
AR EFRT 8 — 2,571 -9 1,213 -3 1,358 -6 988 -2
EREFET R 5 2,064 6 1,004 4 1,060 2 848 4
EREFRT PR 5 655 7 325 4 330 3 272 6
& K BT 5508]  -24 2,611 -14 2,897 -10 2,139 —4
ARG F0ET 289 3 280 3 9 0 281 3
EE 3] 5 0 9 0]x 0 5 0
EXRE—TH 351 —1 189 0 162 —1 184 0




EXREIZTH 244 2 98 0 146 2 125 2
EXREI=TH 0 0 0 0 0 0 0 0
EXRETETH 0 0 0 0 0 0 0 0
EXRETATH 216 0 106 0 110 0 91 0
LtEE 0 0 0 0 0 0 0 0
TEE—TH 281 -2 128 -2 153 0 135 0
TERI=TH 559 2 251 2 308 0 284 1
TEBR=TH 224 1 98 0 126 1 92 0
BWEE—TH 434 -5 206 -3 228 -2 223 -3
WERI=TH 522 -3 230 -1 292 -2 256 -2
HEET=TH 230 3 107 3 123 0 137 2
e FrET—T B 325 162 -3 163 144
fHEmET=TH 407 203 0 204 217
JEFELET—TH 133 58 0 75 65
L FEWLWET=TH 335 162 -2 173 173
AR —TH 257 124 2 133 160
AR —TH 431 210 -5 221 229
=R—TH 119 57 0 62 58
E 234 108 -3 126 126
[ [ ih 151 76 0 75 117
FPRET—TH 188 88 0 100 95
WA= TH 413 209 2 204 188
FRFET—TH 564 258 0 306 254
bR =TH 446 216 230 189
hRFRI=TH 697 324 373 314
hRFRTE T B 396 189 207 205
hRFRTATH 611 280 331 241
FEET—TH 205 119 86 111
HER—TH 299 172 127 176
AEER—TH 382 187 195 203 2
piEERI=TH 281 136 145 131 0
IER—TH 127 71 56 69 2
IERRI—TH 484 232 252 0 229 0
IEERT=TH 525 283 242 2 278 3
IERMTH 195 96 99 1 98 0
IERMATH 566 265 301 -1 316 3
KimlI—TH 311 154 157 1 132 1
XA —TH 161 83 78 0 84 0
KFEH—TH 101 43 58 0 66 1
RFEHZ-TH 6 2 4 1 5 1
KFH=TH 123 — 71 — 52 -1 53 -1
TZEETAE—TH 677 338 339 3 270 4
TEEETE=TH 346 155 191 0 133 0
TEEE=TH 651 314 — 337 4 248 2
TEETAEETH 601 276 325 3 267 2
TEEEAETH 697 — 335 362 0 328 -2
T EETFEATH 546 274 272 1 267 1
TEEELETH 647 331 316 2 361 -1
T EETAE/NTH 632 — 289 343 2 281 0
TZHRETE—TH 1,344 629 715 0 640 1
TREE=-TH 365 191 174 0 170 1
THRETER=TH 636 308 328 0 269 0
TZETRMTH 949 430 519 0 441 -1
THRETERATH 891 482 409 -1 492 -4
TZETRANTH 565 278 287 -2 282 0
THRETEETH 1,549 736 813 0 770 -1
TZETR/\TH 1,076 496 580 1 589 1
THRETREATH 330 179 151 0 174 1
T EETdE—TH 89 50 39 —1 77 -1




T2ETAL—TH 97 2 61 0 36 2 81 2
I =t 81,380 -48| 39,600 -33| 41,780 -15| 36,570 -4
AEREE 74 1 29 1 45 0 54 2
AEHTH 52 0 29 0 23 0 25 0
AERTR4E 3 0 0 0 3 0 4 0
ABET /MR 79 0 38 0 41 0 34 0
AEBTKE 1 0 1 0 0 0 1 0
AEHET{EH 28 —1 15 -1 13 0 12 0
AERRE 1 0 2 0 0 1 0
AERTA /R 7 0 3 0 4 0 6 0
4B 7 0 2 0 5 0 6 0
AEMXEST 252 0 119 0 133 0 143 2
LERISIA 23 0 13 0 10 0 14 0
LERLINE 33 0 13 0 20 0 25 0
LERTZ DL 22 0 10 0 12 0 14 0
[LERTEHER 9 0 4 0 5 0 10 0
LERTER 33 0 13 0 20 0 23 0
I SET 3 9 0 6 0 3 0 10 0
LERXA 16 0 9 0 7 0 10 0
LER/NMNEE 27 0 15 0 12 0 12 0
FEHT 13 0 10 0 3 0 11 0
[LEMXE 185 0 93 0 92 0 129 0
BUEER &5 437 0 212 0 225 0 272 2
FEERETE £ 1,155 2 555 0 600 2 473 0
EETET 652 -1 287 0 365 -1 225 0
AT EE 1,082 -8 530 -6 552 -2 410 -3
e IRET M H 7 1,070 2 510 1 560 1 408 3
BIETERER 1,309 -2 633 -2 676 0 398 0
BT ERER 1,096 -1 521 0 575 -1 450 0
BT = A 3,690 0 1,777 3 1,913 -3 1,487 0
B X EE 10,054 -8 4813 -4 5,241 -4 3,851 0
BRI LAY E LT 1,733 -1 808 -1 925 0 640 -2
SRILBT AT F 2467 8 1,170 3 1,297 5 976 5
BRILLET B /M 1,807 -3 901 0 906 -3 748 -4
BRILLET A 3R T 1,600 —4 790 -2 810 -2 623 -3
BRILET SR 1,284 7 616 5 668 2 508 2
BRILLET )R 2,295 2 1,115 3 1,180 -1 900 4
EALESTE 4739 11 2,335 12 2 404 -1 2,061 9
BRIl Hh X EEET 15,925 20 7,735 20 8,190 0 6,456 11
= L 107,796 -36 52,360 -17 55,436 -19 47,149 9




